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F£—&84 Wr/132## (Listening Comprehension )

— EFRXAERER S

1. EXAE

KAF SRS BT 43t 20 8, 43 5y AB B T4LAR: A 15 (Section A) HH 10 M, RS
A —H X, W & G A —N 84 ;B 15 (Section B) A 10 1M, L HESE TREXZE BREXESR
2—4 JERE, Bk — 4],

BB AN, g T WEREME GRS,

W 548 22 ( Spot Dictation) c

“UE B T HEE WO BT 2 05 . I8 R — R4 200 FRESC KA 10 N EAER.
BN ERERBEA N FREEFH 5. 2CACKFEIGEHF RPN HE 1918 £ (5538025 140
AMA))BAEE 33 . Sl SCRAE, BRI, HRLER A TS CAE B R ES R E, BXE
A O B 9 P A () F BRI — R0 ) BUAZS A A 5 3 =3 [R) 3 — ol — A 450, B B9 R A 1T
Bt .

“WrE A T ER A A AR R XE BE 5 S T ) B R A 0 R SORBU Rl . T B A T R E AT
PRARRE R, WIETER —REH b

£ &3 5 (Compound Dictation)

“HARWNE " GHE W R ZJE . “EARWE” BAR R — B Y R HSE Bl B
A BB R BRIAIT S | BOR B A RS M A SE A Pk i B35 s 55 R A R RE  BER A AR R BT
HEEHES.

“HERXNE"E R R 250 MR KBS0, BIEE 3 8. 55—k 2SOk, BA A, AR
iEEA T HRLCNE . IR 75— 0 B 2 iR AL B AT (5, R A A BT B S i) s £
B ZEEW S 28 A RBEFIMRMAASHES. BRERSE R, BAEE, B
) 2% A AT BB .

“HAAVTE TS BT R AN BE A 5 W S AR R 04 A8 SCR B TR] , B B B AR TR 2R
BUE R PARSE A

40:2000 4E 12 H {3 Section B

The human body is a remarkable food processor. As an adult, you may consume(S1) a ton of
food per year and still not gain or lose a pound of body weight. You are(S2) harnessing and con-
suming energy through the intricate(S3) of your body in order to remain in energy balance. To
(#4) a given body weight, your energy input must balance your energy output. However, some-
times the(S5) energy balance is upset,and your(S6) body weight will either fall or
(S7) :

The term body image refers to the mental image we have of our own physical appearance, and (S8)
. Research has revealed that about 40
percent of adult men and 55 percent of adult women are dissatisfied with their current body weight. (S9)




At the college level, a study found that 85 percent ‘of both male and
female first-year students desired to change their body weight. (S10)
. Thinness is currently an attribute that females desire highly. Males generally de-
sire muscularity. The vast majority of individuals who want to change their body weight do it for the sake of ap-
pearance;most want to lose excess body fat, while a smaller percentage of individuals actually want to gain

weight.
[HF®R] Sl over 2 constantly  S3 mechanism 4 maintain S5 overall $6 normal S7 increase
S8 It can be influenced by a variety of factors, including how much we weigh, or how that weight is dis-
tributed.
S9 Similar findings have also been reported at the high school level, mainly with female students.
S10 The primary cause of this concern is the value that American society in ger;eral assigns to physical
appearance.

E AR RERE"M AN E WL RERAEER TEEFXENT 6L HEGE
J1GeER M RE ST MBI RIARE Sy , BDSCRRE FIRE S . e, R A TR ) KIEHIR M A H E K
HE5¥FAR P, IENNRPERRIE S HLFRZE A L, A R .

2. RS

(1)341& &R BB R 53 47

SRR AR , B AT — @ HE 5 8. ZEHOT SR B U ) BT , (SR RATRES T BAHE /Y
EEI, THIHEM M EEE R IR AMX R, RS KRR . IR A4 2% 3
B —EiER B HAINT

MIHEHRR | AR n x @ A
S —HR B HE | i, ERK homework, marks, assignment, grades
EFE—EHEER AW BGE)H borrow, return, fine, renew, due, overdue
JHE—ER5 | S W4 f how much, price tag, expensive, cheap
BE—TEAR | HRR BEWA{E 1 422 | letter, address, postage
EE—RFR | BiR 18 room, reservation, check in, check out
AR | DB HIUZEEMN | break the rule, fine, policeman
FeZx—VIFHAR | P37 ALBE B take off, flight, stewardess
WA—BEE | BB 2P | B headache, pain, What's the matter?
RE—EER | AKE | Wk excuse me, How can I...?, Will you tell me. ..?

R R — XS R, WAME A FIFEZ B, REZH, LG FLZE, SEMBBZH, 40
Zn%%ﬂ‘]ﬁﬁo M P AR AR A 43 1 R E SRR AR i 25 B ER R R X — R N B A, 0T
Wb 5 B R A LA T LR

OitEE
W BRSO R A FE XS A B F R — Lo, (g | 3 RS i je] B % T
T R 8 T B #1997 4 1 A BB BRHEEAHE 3 /MEL
M: I'll have these shoes. Please tell me how much I owe you.
W: They are $40 a pair and three pairs make a total of $120. But today we offer a 10% discount.
Q: How much does the man have to pay?
A) $120. B) $108. C) $90. D) $40.




R — B R BT AR, E WA A R R . TR, B e AT 2R, L A
AU §40,3 BURESL § 120, (H AT 4 10% HIPT4ns K, BHBLRI AT § 108, AR LU i FEIFAE,
(BT TR AR TAR B o A, 2R B X T 4 A 5 AR A B (R R, AR T 2 A A B R
B IS TH TR 40t A A — AN E B R, RO AR ) B R R A 5 A

QOmE

b SR X X 36 X R ) 4 4 3 i A e AR R A IR R, 2SR SR A AR T T P A
TNFOHEDT X 18 603 BT 80 75 R BB i . X B6 35 Fr e 35 A 1 T 10 (T (R RS L BE B W PLA SRS
#ilEn :2001 4 6 A 3 A 10 L.

M: Good morning, What can I do for you?

W: I'd like to have my emergency brake fixed. The car rolls when I park it on the hill.

Q: Where does the conversation most probably take place?

A) At a gas station. B) In a park.
C) In an emergency room. D) At a garage.

R T A, EXES, LA L eE - T R aME . EFEEL LN SRR
B 7 SMBHE S L BRI FE R T RT S0 %G DR E B3 34T R, 8% D).

02000 4E 12 A BAHER A5 2
2.W:I have a complaint to make, sir. I waited 10 minutes at the table before the waiter showed up, and when

I finally got served, I found it was not what I ordered.
M:I’m terribly sorry, Ma’am. It has been unusually busy tonight. As a compensation, your meal will be
free.
Q:Where does the conversation most probably take place?
A) At the information desk. B) In an office. C) In a restaurant. D) At a railway station.
[BRIC) . AR R, TR A ARHE X A 255 10 3 T 1 X 17 9 35 BT sl % 4% P 4R BB 5 7 . R
HEXT T o 9 81 waiter, serve, order, meal, frec SR FH, ﬁ%ﬁ?&&‘ﬁfﬁﬁ‘]—&ﬁﬁ i C),

(©F 27 5-4:0017% ]

RS RA TSR A3 X 18 A\ B PR R A A, T U TS 2 0 B A A S BRI . fBUSC SRR, W] SR AR
8 4 KSR PR U A TR AR B O sl B 1 24 18) 2 B O 3HE Rl BE S B A LBk AR TR, Bl 1996
1 AARSSCWT S84 Passage 1 HHAEE 11 8,

11. What job did Miss Susan Brown have before she worked as a night nurse in a hospital?

A) She was an office worker. C) She was a cleaner.

B) She was a physician. D) She was a social worker.

BRI RS 1L R — N RO SRS A AR R E R IER R R, REE4
PUE T “office cleaner” X~ B IAIE , SUAEHIWF EMAIERE C).

OIEEXRE

WASHEOR A A A HE AP R AHEE Z R X R, XFHRREUFBMAEXR BTFXR, REX
F,EAREARARRR  RESERRANXR, AIWINERHXREE. Him.

1998 £ 1 A 3%l #ER 8955 5 /M

W: Take a seat, Mr. Brown. Could you tell me which position you think most appeals to you?

M: Well,as for me, 1 prefer to take the post of sales manager if you think I'm qualified.

Q: What’s the man’s purpose in meeting the woman?

A) To find out her position in the company. C) To offer her a position in the company.
B) To apply for a job. D) To make an appointment with the sales manager.

R TR TR SRR, FEXE S, B i (a4 B SE A B RAT A R TR, 7 BH 56 A 1 B A
B, HIE B 5 0 R R, AR B S A R A, A R T A T s SR
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Fo [, TR T, W5 ERERL B). i
02000 £ 12 A3 E I HE 9 N
9. W: Sorry I didn’ t come yesterday, because I had a temperature. Could you tell me your requirments for my
termpaper?
M: The theme of your paper can be about business management or touring resources in Chma and the length
~ of your paper should be no less than 15 pages.
Q: What is the most probable relationship between the two speakers?
A) Manager and employee. C) Guide and tourist.
B) Salesman and customer. D) Professor and student.
[ERID). XMiEERXAB, & UithirE Rl TR Lem B AEk , 7] 5 1 X HA e SCf T 2R . 55+
Hie s E8 KEMTER, B, mERMAEXR,
(G ¥ 72 3| B 7R
AFE BRI RTURE B X003 (0 N A s 2RI B SR A A AR XS (1 1A R SCHE T U A AR EE
H EEF, WRAE AR
What does the man/woman mean?
What do we learn from the conversation?
What conclusion can we draw from the conversation?
a0 1999 4F 1 A 2 FO il ER 43 P 5 4 /N
M: If you are in a hurry, you can take the subway. If you want to go sightseeing, take a bus.
W: Actually, I don’t have to be at the conference before noon.
Q: What will the woman probably do?
A) Hurry to the conference. C) Take the subway.
B) Skip the conference. D) Take a bus.
R TR AR , B 0 3 2R 00K A TR ) . B SR A RE L LRER A A,
HEW 1 1 T B St A, 2 5B A 4 S 1) i e A MK , ISR AN A, AR — Rl AR R A A 363K
%5, T+t B2 “1 don’t have to be at the conference before noon. ” (A 7E A FAEFERI &S LA,
FONZE, “BIFAMERT ], e n] LATRAL AR — T i 27 L4 LA L HE B, B € R D) R IEW
BER WX — BB, IRATT LA, 8RS8 A 1 sk ), (5 40 AN B R0 X7 oy 20 5 1 ) A Ok
W T “in a hurry”, “take the subway” , “go sightseeing”, “take a bus” , “before noon” %5 81715 , ALIRMEEH 1E
WA W, X — S F A —E B R, R H RN G R O e, BB A A A
SHRAES . BEWHEHRLIA 60% ~ 70 % SR THEHL b,
2000 4 1 A 30 iSRS IE 9 /b
9. M:I think I’m going to give up playing tennis. I lost again today.
W :Just because you lost, is that the reason to quit?
Q: What does the woman imply?
A) The man should take up a hobby. C) The man should stick to what he’s doing.
B) The man should stop playing tennis. D) The man should find the cause for his failure.
[(BR] C)o AR E HEMPHE ANFLEFGTR B3, AT ZO e T MER T, (k)34 K L
TR T ), U T X R A B g ] W, AR B RR R T X,
WO NERESR.
0 :2002 4 1 A 63 %HE 805 7 /N8
7.M: When we are supposed to submit our project proposals, Jane?
- W: They'll do by the end of the week. We’ve only 2 days left. We'll just have to hurry.
Q: What does the woman mean?
4



(BRI A), ABRHEFINR, 430, BATER T PK BRI, Bk aT 50 5 MRS T, 5k
A). ;

(2)IF FIBRRSE 8P4 (XA ) B R AR

VA RS 1 6 R AR . X 6 FREEAUASAGE 1 T ik Wy A #84 , i ELE R T 8 ST
gro B T LA EEERISN, B SCHER A i) () RIE AR 2P0 B B o0 AR AR U IS R A ) R A W s R
a2 AR T EOE BRI TR . AN D 4 BB S W ok R, S8 SO BB A 6 AR T
MERERER . FERM FXES N B, — S A W i R PR AR, Rl — 256
LT SRR R S, X SRR AR IR AT T | e R G T L
BB ST 14520 18, EWr 95 R P AT IR GRS 45 1 E OB WE B A E RIS RS, BB RS
250 98

401998 4 1 A 63 a8 e =RE3.

On 15th,Feb, 1989 an instant survey was carried out among 18 overseas postgraduate students. 11 students
were male and 7 were female. The purpose of the survey was to discover the views of the students on a number of
matter of personal concern. The survey was conducted by means of a questionnaire given to the students to com-
plete. There were five questions. The first question concerned favorite color and the second favorite number. The
next 3 questions were all concerned with aspects of marriage. No. 3 looked at the ideal age to get married, No. 4
examined the qualities looked for in a partner and NO. 5 asked about the ideal number of children. The main find-
ings were as follows: Blue was the most popular color. This was followed by Green and Purple. There was no real
significance in the choice of lucky number. About one third of the students said that they had none. Sixty-one
percent of the students selected the age group 26 to 30 years as ideal for marriage, followed by 21 to 25 year. In
looking at the most important qualities in an ideal partner, someone hoped the person to be Intelligent, others
chose Natural, still others indicated Attractive and Honest. The ideal number of children was 2, followed by 3. It
is not easy to reach any definite conclusion based upon such a small sample of students from such widely different
backgrounds. However, it is clear that majority favorite of 26 to 30 is the ideal age to get married with an intelli-
gent partner,and producing 2 children.

17.A) 18 American undergraduates. C) 18 overseas undergraduates.
B) 18 American postgraduates. D) 18 overseas postgraduates.
18.A) Family relations. C) Family planning.
B) Social problems. D) Personal matters.
19.A) Red B) Blue C) Green D) Purple

20.A) The five questions were not well designed.  C) Only a small number of students were surveyed.
B) Not all the questionnaires were returned. D) Some of the answers to the questions were not valid.

(AT ) 2 4 S Wi R 06, 1 5 0000 S A B AR A1) 5, 3 TR IR AR W1 5, 1 4 SR 7 4080 1 2o 72 v R T
TR B S ST AN, BRER B S T X S B S SCEA Y  (H A ANE , RUR AR  ARREREAR AME R
EHIER.

FESCHAYEE 17 8 “Who were involved in this instant survey?” S — 4058, Q0% A4 B4R 58—
] :On 15th Feb, 1989 an instant survey was carried out among 18 overseds postgraduate students, 11 students
were male and 7 were female. "I B % 51%/5) 1 i e 58 17]) overseas postgraduates, B 4 X 8 BRI 71 i T o
[NE) MM TR, el X000, A ARREE MY BLOR ) EMEXEREATA T+ TR
., 1N

S 3CH A9 18 81 “What do the 5 questions to be answered focus on?” &— W77 At 51 , 3 3512 il i
R R B RE S S e AT HELRINT A RE 1) o OB EER A AR R i S AR R T
AT FESCHIRTARR S 5 AN IR T T VRN A , W EL7E VEAN AR Z BT i : “ The purpose of the

survey was to discover the views of the students on a number of matter of personal concern. ", #ZAJ A DAt &
5



AR £, 5 AR, SRR T ERNBE” B N HERRT R F =
ATl 6 T WS WA T Y IR R, - G5 IR AR (B REA RERR B — N H‘J#{n,@fzﬁﬂ/\&?%o MiX 5
ANEE o] 2 (R RO, BRI AR, B, (TR R AR D).

[NE] AXBTAE S e BEXPH A KA FTEARER, AN AT RITERBBOEN R TH
Vo BB dedR A 6) 4L Mot A eg et

51 3CHEE 19 B“What colour was chosen as the most popular in the survey?” 5% 18 E*E[;] J& T E A4
F, 43 20 B“Why is it difficult to reach any definite conclusion from the survey?” Ja&— >4 i % i)
o R ERA AR B A 40T (U 25 A9\ BB A, B 2 3 A9 SR A (7] 4 ) HE T L IE T A 25 R
SE b4 3045 R ER4) “ Tt is not easy to reach any definite conelusion based upon such a small sample of students
from such widely different backgrounds” (XAl BT AESL R BLE M) A ELHBMAE TER. B
K% R REMO X EE, TR AR Z K, AR, KEAE4E RERT XEHIBENF
B, R L .

[NE] AABT AR S Je B 6554 EARERBRE KO K RUFEALT A O ERHMAEZ—,

= W h e S R iR B TS

Wy BRI A B AR B A AR — R R B B, KR AR R UT ) B N % iR
0 BB H 2z —, 3t 20 M1, 20 43, o NS A 175,

— LUK , 5 A FE T o S 4018 B A AL < (1) A A B A BRAS |18 38 5 (2) TRt T Jgk e G 6815 ; (3)
T RERUE, ARG WIHE; ()X 230 A ENREONT, RAEML L E6R A9 HENT. Bk, EHANFEH L
N A 7 S RNVT ) SR 5 A 7 T AnaR I

1. WA ER %

TEIEF M EAB R, T 0 R T 152 B A8, XML T 0T ) 4 R A9 38 1 A 008 5 AT i A4 T oy 3K
BRINGRACSTI . WF ) BERE VI ZR AT A LA T JLE 64T -

(1) HBRERRMA &,

BRI IR AR, e B B POE, B AR, X R AT LA A R TRE T B R SR A
o

5 R R — TF RR R LA S s 1E 5 B AT SRR 2 H B A RS LT BER B
FEXMIERGAW ohE T 07 SBBER . AMAZ, NFFIE R R 5 5%, BIfeEZ —14aF, U
BRINESNET EE Bk X0, KINE 52 208 M T X FhiBs, 1 T 3R 244381012 5 F M fY
BEAHT.

RATES A LBRPERS T E R EEA R FEUT SR BRI 2R R AESME A iR B (B
HIE R BT bR, Zead — B () A ISR Z 5 AR RE RS (B i K v i S RD A MERE , B E KBt
HGRETER . XA SR A RN E A R

(2)BERRINE

Wiy IR 2 TR % 3 R RGBT E B OB %ﬁ%%mﬁ%gzs%nﬁmiﬁ WEFHEAE
PEFMEETOE TS

FEIE B (428 B U35 p 2 1 IR — 26 55 0 24k AN A0 RAL LA AR A 58 SRR i 3 MR AR , IR X 4
SEAC IR R, A R FAE T 3 o S

(3)321Z h el gk '

W A2 T it g — N IR . FEECF SR P R A TR S B, Wy S C N GRT 4y 3 AT

Ol X — BB EEAL R VTR BIA M RE S, 0 £3E 88 hia)  FRm Al s S 94 5 &
SE @l HEPTiE R ENERE,

QS W5 RIZICIZHAR S . WE IR AT, B4 0 B % 9, I vk F 4540 fi 0
ﬁiﬁﬁiﬁﬂ’]ﬁ)‘c; W5 SO N SE LAl fE  FRIN A RSB a0, B i N AR,
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OEb. WiE— T RBEE T REEE M E R, TR LR, A A A% R EC,
B, RS, RIS, BN R B , 4 0 LA, U7 52 5 ST %0 A I L B , e R I 4R, I
fLHhERKKER.

2. MRBIS

(1) fsF 5 Bk 2 , TR Yl U8 46 T B9 IE R I]

TCAEA DAY B AR FAR R T R R . R4 6 FF 4R #5 — BX Direc-
tions, 7t BILIR4T L R TE R, ik BeBE K, Section A IR 45 T — D RHESEH] . 405 2% A= BB 3R 5T 2% Direc-
tions, S 4 5t BT LA A P 3 B3 Bt (6] ke ) WL 4 10 108 e 430 00, K o I ke 7 1%y S A AN AT BB AR L ) (), WA TG A
2 19 25, Y 2 B R SR A R R A TR KBS

(2) F iR o) 2 U EFUT SR X ig

R RLTH 51 AR TR BE BT BB 75 U TS AR 4R 6] i o) B, 3X — AR ASGE I F XS 84, T B CUH)
3 R T4 30T S o

AR JE 4 EAR R Y 2 B SR B, RS AR 1] R ER S LA whe 3k 485K B8 [9) 4] (what , where, when,
why, who, which, whose, how % . ). 1999 4 1 H oy J3 % @xf &8 4r 10 A ,7 JHAELL what 3215, 2 i
BLA how #2161, 1 18 8 LA why $2 8] 41, X #6449 K 25 % 0] 0 %5 2 181 48 45 58 — 1 A\ Y8 1 3
HE, FFLADT IS A ARSI AZ EHE, £ 1999 48 1 A48T i 10 M, BiEBSE% —
MABREIEHABHRITRENKEEO,0,0,0,0,8,0tiHEM.

WA SRR, BRI N A SR SR E RS R A A A R LT LA

OEFFO B

QH LA

QOANMZHMRXR;

@E A A s i) O A5

OMAMBHE . :

(3)HRXx@in, xE@a, FHERIEANTIINZE

BE 0 EHAREZ R AHEAGAERER TR AWK EE EEMB M. HER—Ira] fBR 5 —
J7 B FE B R 7 8 L, T 55— 7 AT B R IR] , A BT B RN, 45 48 8% 048 I R, s AR A A
B, ARLE ARES AT RE T2, 55 RES, AR RERAN, XMBERE A ESAFRMIES
B AR, B EFEFRERIEANSEMEIESE ., Fit, W7 ed—E 2 E0 e 5, XE
ANZ IR FR , A St AR LA B, B B ppg @ m (in £ A B %), HAE XM, ARk
EiatiE s R UA N D= e '

(4) 8 THERR T

A B9 IE A A SR W R R B S RSO R S L IR R RE S e 2 —8U B 7S 3 4%
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(D What’s the main idea of the passage?

@ With what topic/theme/subject is the passage mainly concerned?

@ What is the passage mainly about?

@ The passage deals mainly with

® Which of the following statements best sums up the whole passage?

©® The best summary of the passageis

@ What is the best/most appropriate title for the passage?

® The title that best expresses the idea of the passageis

@ The author’ s purpose in writing this passage is §
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il 3 :

Americans are people obsessed with child-rearing. In their books, magazines, talk shows, parent training
courses, White House conferences, and chats over the back fence, they endlessly debate the best ways to raise chil-
dren. Moreover, Americans do more than debate their theories; they translate them into action. They erect play-
grounds for the youngsters’ pleasure, equip large schools for their education,and train skilled specialists for their
welfare. Whole industries in America are devoted to making children happy, healthy and wise.

But this interest in childhood is relatively new. In fact,until very recently people considered childhood just a
grief, unimportant prelude to adulthood and the real business of living. By and large, they either ignored chil-
dren,beat them, or fondled (& 4% ) them carelessly, much as we would amuse ourselves with some little dogs.
When they gave serious thought to children at all, people either conceived of them as miniature adults or as pecu-
liar, unformed animals.

Through the ages the experiences of childhood have been as varied as its duration. Actions that would have
provoked a beating in one era elicit extra loving care in another. Babies who have been nurtured exclusively by
their mothers in one generation are left with day-care workers in another. In some places children have been
trained to get through dangerous mountain passes, and carry heavy objects on their heads. In other places they
have been taught complicated piano concerto( FpEE )

But diverse as it has been, childhood has one common experience at its core and that is the social aspect of
nurture. All children need adults to bring them up. Because human young take so long to become independent,
we think that civilization may have grown up around the need to feed and protect them.

1. The main purpose of this passageisto__ .
A) show that Americans are overworried about child-nurturing
B) argue that children, though they are not adults, should be respected
C) propose that our civilization should center on children problems
D) call our attention to the social aspect of child-rearing
2. What is paragraph three mainly about?
A) Children’s experiences vary from place to place and from one period of time to another.
B) Some children behaved badly but they received extra love.
C) Children are treated differently in different areas.
D) Children have quite dissimilar experiences in their childhood.

BHRE, LRGN BRI B R E AR L OILERKOBUR, BEKSEH T
TR AIER b, BUS SA R B s 7E T LBR R @ AL 2 itk . Bk, B4 B (B BUE — B 4R
XEHEE Wk REICBAY M. . . childhood has one common experience at its core and that is the social
aspect of nurture”, B, D)TRS 1 MY EWER.

B2MRB=BARE, H=BRURE R RIFARN, B RS YAR R AR X 6 )L ERSFE
AR REFAREE . B, X—BAEEAREE MR, &I A)EX EEMNER, BNE A). C)
REKEH—I5 T, K2 D) (AN [ 51 AR 287 AR [ ) 7R 2 SCTE A%

A TR M ) A, Tl E BRE Ttk b, %4 R R 1R LA HIWGRE S BB 48 e 2
REST , IERERER 210 AL FAsiZ A0, A6 M % $8 5 , L 18] 3k EPRE— F JETR 754 £ B A AR Fs &
Ik

il : 1997 4F 6 A R rh 5 30 B
30. What is the main idea of the passage?

A) American firms are different from Japanese and German firms in human-resource management.

B) Extensive training is indispensable to effective human-resource management.
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C) The head of human-resource management must be in the central position in a firm’s hierarchy.

D) The human-resource management strategies of American firms affect their competitive capacity.

XEFF G, B FEEA R EDEAERA SR E AT, Hl, BRETS PAEFRS (X —K%
BT TABHEARKT) B4 EEHA R RS EIGER MM E, cEEERbEXEAR R, A HEE
HHAZHER, ARGEES EEMELCWAERARS B, 20T TAMEREARING, NRE 17
BORBURE R A S K EA R TES S, el W, Ao BB R - REAR AN RERE
ARG RIS ) . WA ES D)BFEMNA. A) OMERE 2w, A WAR A8, B) 5N
AEXHHHNE.

0n:2000 4 6 A HRELE 30 ME
30. In discussing the maketing concept, the author focuses on

A) its social impact C) its possible consequence
B) its theoretical basis D) its main characteristic

XEF—BABER TS EH OBSY R ATA T A7 R 0 i R R A = r R ™ i 1
B 58 BES A B A HE A BOLAHE s 5 = Bt — 45 0o iX — S A AE BEAT 4007, 3F HLASBIBERE . itk
AL, SCEE EROR BSOE I ARRE R T, T 5 Ak &R, RTRER/E R, LA KBS EERITC K, B D) HIET
®,

I EFENRASET

YRR I A B A X — S Y sl w2 AT . A AHE S @SB , % 4 v SEEH 1Y
"E ﬁﬁjﬁn‘iﬂi%ﬁﬁfﬁﬂ(ﬁﬁﬁfﬁgﬁ]*ﬂﬂﬂﬂ) HEWTER BIE <o W ILAHRIR 7 A

(D What is the author’s opinion?

@ What is the author’s attitude toward ____ ?

® What does the author think of 7

@ How does the author feel about g

® Which of the following can best describe the tone/style of the passage?
i3 :

Farewell, rutherfordium. So long, kurchatovium. All hail unnilquadrum! The bland and faceless scientists
at the International Union of Pure and Applied Chemistry (IUPAC) have decided that the names for all newly
created elements will be equally bland. No more will the creators of a new element be able to name it after a fa-
mous scientist(lawrencium) ,city (berkelium), or state(californium). Instead, the names of new elements will
be systematically based on their atomic numbers, beginning with element 104, which will henceforth be known
as unnilquadium(un=1, nil=o0, quad=4).

Some investigators are thankful that the committee has not been able to extend its influence into other areas
of physics and biology. If it had, the quark might be simply particle. By the same token, Legionaires’ diseases
might simply be infectious disease 203. Science might become orderly, but it would be a lot less interesting.

1. What is the author’s attitude toward this new system for naming elements?

A) Indifferent B) Apparently approving C) Hard to determine D) Slightly critical
2. How do investigators feel about the new system for naming elements?

A) Insulted B) Disapproving C) shocked D) Grateful
3. Which of the following best describes the tone of the passage?

A) Furious and indignant C) Humorously critical

B) Neutral and formal b D) Cautiously optimistic

MG —n)iEE L VEF A BT T4 7 3-8 B (science might become orderly) , {83 K (a lot less
interesting) , B B HEWT , fE & X BARBATRZEMH,HARAHRE. 81 BWERERNE D). HE=B
EEAE, Z RS ARGER B i 2 ) I AW S R, — S 2 36T it R B i K U b (thank-

11



ful) o BARWEENIF A EEAREN . P28+ B)WIEWRED . 1EE& L2 R A
Pi“Farewell”, “So long” , HiE SR MABRAY . 15 b 850 fa — A) HEIST A & IO AR S, B B —m, 28 3 I IE
WERDMEKT .
I . ¥ B
R WA Z — , HA A Y AERE . HEWTRE 3= B2 A 0 B i ARk e TR HERRAYAE 1. HHE3E
WOFHE T S SRR , A T] AT, (BB SE RA R RF LA, HAN E&ﬁﬂw&ﬁi\
SRR b S HTRIELCR R AR, TEWEEMRE, BEERK, B E R TFILA:
(1) ?M%%Eﬁtw e
(2) FRASRER A0 B L R
(3) BRI
(4) ASFEAR - i R, AN i] YRR ;.
(5) XAFF LA 5
(6) MEESAR, HEKE,
R XA
@ It can be inferred/concluded from the passage/paragraph that
@ We can infer/conclude/draw/see from the passage that
@ It is implied in the passage that
@ Implied but not stated:
(® Where would the passage most probably found?
Biln : 1998 4F 1 A ks 33 @
33. According to the passage, alcohol has something to do with bad breath mainly because
A) it keeps offending bacteria from reproducing C) it kills some helpful bacteria
B) its smell adds to bad breath D) it affects the normal flow of saliva .
SCHPERI, 11 i S SR Pl VR A B Uk % 165 J A (bad breath can happen whenever the normal flow of
saliva slows) , 8 ¥ & H il 22 — (Alcohol , hunger, . . . —anything that dries the mouth produces bad breath),
R T HEWT , R R R R A T R S | R DR, D) REE., XE PR B EHER
.
M40 :1990 4 1 A fHAEE 31 &
31. It is implied that fifty years ago
A) eighty percent of Americans working people were employed in factories
B) twenty percent of Americans intellectuals were employees
C) the percentage of intellectuals in the total work force was almost the same as that of individual workers
D) the percentage of intellectuals working as employees was not so large as that of industrial workers.
XEPUL 100 FRTRA 15 WAZET A0 FHitRHAEREE T SRS L7, M4 K
HA 1/5 ARSZRET A, i HA KRR R 32 #0E 8 7 Bk 980 H sk ok, B a] LUHERT, 50 4
B R G P AR T 1tz /Tl T, B D)2 IEME T, dE5 0% 4 BB AT R R 5
AT IR R, R REERAR S R S
#n:2000 4 12 A i8Ry 27 /v
27. 1t is implied in the passage that holding a university degree .
A) may result in one’s inability to solve complex real-life problems
B) does not indicate one’s ability to write propetly worded documents
C) may make one mentally sick and physically weak
D) does not mean that one is highly intelligent
AR SCEESR — BB MO ARl A, AR IR S RN RELE R B O A2 1 BOF 2 FTE B i A TERS B
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B F — s AN BE D, . R bl AT HEWT D) IE#

0 :1995 4 6 A 4826 35 81
35. The passage is most likely a part of

A) a news article B) a journalistic interview C) a research report D) a preface

A RS R HEWT SCRE R AR . FIWTRIKIBZE TP MBS 69, A S S Bt B as this book indi-
cates (PRANAS Fr 2 BH (1) LA B FF 3k 19 The importance and focus of the interview in the work of the print and
broadcast journalist is reflected in several books that have been written on the topic. Most of these books. . .
stress the “how to” aspects of journalistic interviewing rather than the conceptual aspects of the interview, its
context, and implications(iX B SCF BRI HLLFANE) , BB S MR (T B F R RS %M
HIiR.)

FHE DT SR AR A8 0 UL, 3k B AR U S U6 B SCA AH 26, 40 F59F (book review) (BIFFE AR 2
(research report) . ¥ & (preface) . [ #i8 (news report) %5, b4 [a) FRAT 30 AR, 2] 52 2 it Bk 2552 1B & 0
W CEAKEE) I RYTE B AR, A B T i R A AR AN ke S B A AR

V. @7 E

e T R SRR A B SR o MR, IR B S SC AN 1T A B s RS S IR . — R
YO, 401 AR A A RARRE EEE MBSO RS, (HE, G045 R 7 B % , 5 — 7 T 40 7 S B P A i
B K BIR, B, 4095 AR 2ot (] . HOBCs ) 80 R 7E W Y8 (skim) 42 SCHY M PR a5 2 B3 S el 40 1y
A8 5 s 005 B 58 RS F3 7 B 5 40 1 B i e A 10 5 s 7y, BT LA KT 4 B e .

R R ARG R IR SR, LR LA R

* SEBERERRMEEFLAMAY, 260 50 A L8 EEEES. KREESEL L,

A for example, a case in point, the most mponanmm:gﬁﬁ 5

* %/T.%B&?f‘ #)3A138 , U because, since, as, so, therefore hence, with 2’;':’*5] ﬂﬁﬁﬂﬁilﬂ as a re-
sult, oonsequent[y, give rise to, derive from, _originate fr_oy_n_,_m that, U-ﬁ'a‘%' ﬁﬁﬁ %‘ ﬁ'%‘%ﬁ SRR f]

Hmz %R, HRE LRI, ,
K FRFEYTNS LK R AR 7, W0 while, whereas, however, but, although, yet, still, in fact, on the

other hand, on the contrary, conversely 3. {5t a] HRFREFT LR,

e SRR T T IEI O F L, T4 58 R “Which of the following is NOT true” 23 KAk
.

i3
Predictions of large populations of robots in industry haven’t got to come true. The market for big robots is

now oversupplied, and the impetus of the robotics revolution is claimed to be with makers of machines that han-
dle a few kilos at most.

“Heavy-robot manufacturers are in some difficulty in finding customers. There has been a disappointing
growth everywhere in the numbers of robots, so we have to admit we are either deceiving ourselves or that the
market is slow growing,” said John Reekie, chairman of Colne Robotics. “The following things must happen for
the robotics revolution to occur. We must achieve widespread robot literacy (FEAS%1iR ) ;just as there has been a
computer literacy program, there must be a robot literacy compaign. We must also achieve not just a cut in, but
a collapse of robot prices. Finally, some kind of artificial intelligence needs to be available. ”

Colne makes educational robots and machine tools. It is small compared with companies like Unimation,
ASEA, or Fujitsu Fanuc. But CoLne and others—like Pendar, which makes robots in Wales, and departments
in universities—possess an advantage over the giants. The big companies éell very expensive robots to businesses
with expert knowledge in automation. The little companies make robots for teaching people, and now they have
realized there is a need for small, low-cost robots that they can meet.

The little companies either bring their educational machines up to an industrial standard or design from the
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